COMBINED EFFECTS OF CHANGING-SIGN POTENTIAL AND CRITICAL NONLINEARITIES IN KIRCHHOFF TYPE PROBLEMS

GAO-SHENG LIU, LIU-TAO GUO, CHUN-YU LEI

ABSTRACT. In this article, we study the existence and multiplicity of positive solutions for a class of Kirchhoff type problems involving changing-sign potential and critical growth terms. Using the concentration compactness principle and Nehari manifold, we obtain the existence and multiplicity of nonzero nonnegative solutions.

1. Introduction and statement of main result

In this article, we consider the multiplicity of non-negative solutions of the Kirchhoff type equation

$$-\left(a+b\int_{\Omega}|\nabla u|^{2}dx\right)\Delta u = |u|^{4}u+\mu|x|^{\alpha-2}u+\lambda f(x)|u|^{q-2}u \quad \text{in } \Omega,$$

$$u=0, \quad \text{on } \partial\Omega.$$
(1.1)

where Ω is a smooth bounded domain in \mathbb{R}^3 , a, b > 0, $0 < \alpha < 1$, 1 < q < 2, $\lambda > 0$ is a positive real number, and $0 < \mu < a\mu_1$ (μ_1 is the first eigenvalue of $-\Delta u = \mu |x|^{\alpha-2}u$, under Dirichlet boundary condition). The weight functions $f \in C(\overline{\Omega})$ is changing-sign potential, satisfying $f^+ = \max\{f, 0\} \neq 0$.

In recent years, the existence and multiplicity of solutions to the nonlocal Kirchhoff type problem

$$-\left(a+b\int_{\Omega}|\nabla u|^2dx\right)\Delta u = g(x,u) \quad \text{in } \Omega,$$

$$u=0, \quad \text{on } \partial\Omega$$
(1.2)

has been the focus of a great deal of research and some results can be found. For instance, in [1, 2, 13, 16, 17, 21, 28]. In particular, when g(x, u) is involved in critical nonlinearities terms, readers can be referred to [10, 12, 15, 25, 29] for details. The authors in [7, 8, 11, 18] have investigated Kirchhoff type equation with concave and convex nonlinear. In addition, there are some results for g(x, u) being changing-sign potential, see for example [19, 22, 31]. Especially, Chen et al. [7] considered the

²⁰¹⁰ Mathematics Subject Classification. 35D05, 35J60, 58J32.

 $Key\ words\ and\ phrases.$ Kirchhoff type equation; critical exponents; changing-sign potential; Nehari manifold.

^{©2016} Texas State University.

Submitted June 8, 2016. Published August 24, 2016.

following nonlocal Kirchhoff type problem

$$-\Big(a+b\int_{\Omega}|\nabla u|^2dx\Big)\Delta u=f(x)u^{p-2}u+\lambda g(x)|u|^{q-2}u\quad\text{in }\Omega,\\ u=0,\quad\text{on }\partial\Omega,$$
 (1.3)

the authors assumed that 1 < q < 2 < p < 6, the sign-changing weight functions $f,g \in C(\overline{\Omega})$ and $f^+ = \max\{f,0\} \neq 0$ and $g^+ = \max\{g,0\} \neq 0$ hold. Then there exists a positive constant $\lambda_0(a) > 0$ such that for each a > 0 and $\lambda \in (0, \lambda_0(a))$, problem (1.3) has at least two positive solutions. In equation (1.3), assume 1 < $q < 2, p = 6, f(x) \equiv 1$ and add a term of $\mu |x|^{\alpha-2}u$, then an interesting question is put forward if the existence and multiplicity of solutions can be established for Kirchhoff type problems with critical and changing-sign terms.

Throughout this paper, we use the following notation:

- The space $H_0^1(\Omega)$ is equipped with the norm $||u|| = (\int_{\Omega} |\nabla u|^2 dx)^{1/2}$, the norm in $L^p(\Omega)$ is represented by $|u|_p = (\int_{\Omega} |u|^p dx)^{\frac{1}{p}}$; • Let S be the best Sobolev constant, namely

$$S := \inf_{u \in D^{1,2}(\mathbb{R}^3) \setminus \{0\}} \frac{\int_{\mathbb{R}^3} |\nabla u|^2 dx}{\left(\int_{\mathbb{R}^3} |u|^6 dx\right)^{1/3}}.$$
 (1.4)

The energy functional $I_{\lambda}(u)$: $H_0^1(\Omega) \to \mathbb{R}$ corresponding to (1.1) is defined by

$$I_{\lambda}(u) = \frac{a}{2} \|u\|^2 + \frac{b}{4} \|u\|^4 - \frac{\mu}{2} \int_{\Omega} |x|^{\alpha - 2} |u|^2 dx - \frac{1}{6} \int_{\Omega} |u|^6 dx - \frac{\lambda}{q} \int_{\Omega} f|u|^q dx.$$

Generally speaking, a function u is called a weak solution of (1.1) if $u \in H_0^1(\Omega)$ and for all $\varphi \in H_0^1(\Omega)$ it holds

$$(a+b\|u\|^2)\int_{\Omega}(\nabla u\cdot\nabla\varphi)dx=\mu\int_{\Omega}|x|^{\alpha-2}u\varphi dx+\int_{\Omega}|u|^4u\varphi dx+\lambda\int_{\Omega}f|u|^{q-2}u\varphi dx.$$

Our main result is as follows:

Theorem 1.1. Assume that 1 < q < 2, $0 < \alpha < 1$, and $f \in L^{\infty}(\Omega)$ changes sign, then there exists $\lambda_* > 0$ such that for every $\lambda \in (0, \lambda_*)$, problem (1.1) has at least two nonzero non-negative solutions, and one of the solutions is a ground state solution.

Remark 1.2. It is well known that the difficulty lies in the lack of compactness of the embedding: $H_0^1 \hookrightarrow L^6(\Omega)$, then we overcome the difficulty by the concentration compactness principle. The nonlocal Kirchhoff problem becomes difficult when b>0 for estimating the critical value level, however, by adding a particular term $\mu |x|^{\alpha-2}u$, we could get over the trouble.

In section 2 we present some preliminary results, while in section 3 we present the proof of Theorem 1.1.

2. Preliminary results

Since I_{λ} is not bounded below on $H_0^1(\Omega)$, we will work on the Nehari manifold

$$\mathcal{N}_{\lambda} = \{ u \in H_0^1(\Omega) \setminus \{0\} : \langle I_{\lambda}'(u), u \rangle = 0 \}.$$

which implies that \mathcal{N}_{λ} holds all nonzero solutions of (1.1). In addition, $u \in \mathcal{N}_{\lambda}$ if and only if

$$a||u||^{2} + b||u||^{4} - \int_{\Omega} |u|^{6} dx - \mu \int_{\Omega} |x|^{\alpha - 2} |u|^{2} dx - \lambda \int_{\Omega} f|u|^{q} dx = 0.$$

Let

$$\psi(u) = a||u||^2 + b||u||^4 - \int_{\Omega} |u|^6 dx - \mu \int_{\Omega} |x|^{\alpha - 2} |u|^2 dx - \lambda \int_{\Omega} f|u|^q dx,$$

and then we obtain

$$\langle \psi'(u), u \rangle = 2a||u||^2 + 4b||u||^4 - 6\int_{\Omega} |u|^6 dx - 2\mu \int_{\Omega} |x|^{\alpha-2}|u|^2 dx - q\lambda \int_{\Omega} f|u|^q dx.$$

We split \mathcal{N}_{λ} into three parts:

$$\mathcal{N}_{\lambda}^{+} = \{ u \in \mathcal{N}_{\lambda} : \langle \psi'(u), u \rangle > 0 \},$$

$$\mathcal{N}_{\lambda}^{0} = \{ u \in \mathcal{N}_{\lambda} : \langle \psi'(u), u \rangle = 0 \},$$

$$\mathcal{N}_{\lambda}^{-} = \{ u \in \mathcal{N}_{\lambda} : \langle \psi'(u), u \rangle < 0 \}.$$

Lemma 2.1. Suppose $\lambda \in (0, T_1)$ with

$$T_1 = \left\{ \frac{4-q}{6-q} b \left[\frac{2b}{6-q} \right]^{\frac{2}{4-q}} |\Omega|^{-\frac{6-q}{3(4-q)}} (|f|_{\infty})^{-\frac{2}{4-q}} S^{\frac{2(6-q)}{4-q}} \right\}^{\frac{4-q}{2}}.$$

Then (i) $\mathcal{N}_{\lambda}^{\pm} \neq \emptyset$, and (ii) $\mathcal{N}_{\lambda}^{0} = \emptyset$.

Proof. (i) For a given $u \in H_0^1(\Omega) \setminus \{0\}, u \neq 0$, as $0 < \mu < a\mu_1$, one has

$$\eta(t) := t^{-4} a \|u\|^2 + bt^{-2} \|u\|^4 - \mu t^{-4} \int_{\Omega} \frac{|u|^2}{|x|^{2-\alpha}} dx - \lambda t^{q-6} \int_{\Omega} f |u|^q dx
\ge t^{-4} \left(a - \frac{\mu}{\mu_1}\right) \|u\|^2 + bt^{-2} \|u\|^4 - \lambda t^{q-6} \int_{\Omega} f |u|^q dx
\ge t^{-4} \left(a - \frac{\mu}{\mu_1}\right) \|u\|^2 + bt^{-2} \|u\|^4 - \lambda t^{q-6} |f|_{\infty} \int_{\Omega} |u|^q dx.$$

We define two functions $\Phi, \Phi_1 \in C(\mathbb{R}^+, \mathbb{R})$ by

$$\Phi(t) = t^{-4} \left(a - \frac{\mu}{\mu_1} \right) \|u\|^2 + bt^{-2} \|u\|^4 - \lambda t^{q-6} |f|_{\infty} \int_{\Omega} |u|^q dx,$$

$$\Phi_1(t) = bt^{-2} \|u\|^4 - \lambda t^{q-6} |f|_{\infty} \int_{\Omega} |u|^q dx.$$

Thus

$$\Phi_1'(t) = -2bt^{-3}||u||^4 - \lambda(q-6)t^{q-7}|f|_{\infty} \int_{\Omega} |u|^q dx.$$

Let $\Phi'_1(t) = 0$, it is simple to show that

$$t_{\max} = \left[\frac{\lambda (6-q)|f|_{\infty} \int_{\Omega} |u|^q dx}{2b||u||^4} \right]^{\frac{1}{4-q}}.$$

Easy computations show that $\Phi'_1(t) > 0$ for all $0 < t < t_{\text{max}}$ and $\Phi'_1(t) < 0$ for all $t > t_{\text{max}}$. Therefore, $\Phi_1(t)$ achieves its maximum at t_{max} ; that is,

$$\Phi_1(t_{\text{max}}) = \frac{4-q}{6-q} b \left[\frac{2b}{6-q} \right]^{\frac{2}{4-q}} \frac{\|u\|^{\frac{4(6-q)}{4-q}}}{\left(\lambda |f|_{\infty} \int_{\Omega} |u|^q dx\right)^{\frac{2}{4-q}}}.$$

Then it follows from (1.4) that

$$\begin{split} &\eta(t_{\max}) - \int_{\Omega} |u|^6 dx \\ & \geq \Phi(t_{\max}) - \int_{\Omega} |u|^6 dx \\ & \geq \Phi_1(t_{\max}) - \int_{\Omega} |u|^6 dx \\ & > \frac{4-q}{6-q} b \Big[\frac{2b}{6-q} \Big]^{\frac{2}{4-q}} \frac{\|u\|^{\frac{4(6-q)}{4-q}}}{\left(\lambda |f|_{\infty} \int_{\Omega} |u|^q dx\right)^{\frac{2}{4-q}}} - \int_{\Omega} |u|^6 dx \\ & > \frac{4-q}{6-q} b \Big[\frac{2b}{6-q} \Big]^{\frac{2}{4-q}} |\Omega|^{-\frac{6-q}{3(4-q)}} (\lambda |f|_{\infty})^{-\frac{2}{4-q}} \frac{\|u\|^{\frac{4(6-q)}{4-q}}}{|u|_6^{\frac{2q}{4-q}}} - \int_{\Omega} |u|^6 dx \\ & = \Big\{ \frac{4-q}{6-q} b \Big[\frac{2b}{6-q} \Big]^{\frac{2}{4-q}} |\Omega|^{-\frac{6-q}{3(4-q)}} (\lambda |f|_{\infty})^{-\frac{2}{4-q}} \Big(\frac{\|u\|^2}{|u|_6^2} \Big)^{\frac{2(6-q)}{4-q}} - 1 \Big\} |u|_6^6 \\ & \geq \Big\{ \frac{4-q}{6-q} b \Big[\frac{2b}{6-q} \Big]^{\frac{2}{4-q}} |\Omega|^{-\frac{6-q}{3(4-q)}} (\lambda |f|_{\infty})^{-\frac{2}{4-q}} S^{\frac{2(6-q)}{4-q}} - 1 \Big\} |u|_6^6 > 0 \end{split}$$

when $0 < \lambda < T_1$, where we can choose

$$T_1 = \left\{ \frac{4-q}{6-q} b \left[\frac{2b}{6-q} \right]^{\frac{2}{4-q}} |\Omega|^{-\frac{6-q}{3(4-q)}} (|f|_{\infty})^{-\frac{2}{4-q}} S^{\frac{2(6-q)}{4-q}} \right\}^{\frac{4-q}{2}}.$$

Consequently, there exist constants t^{\pm} such that $0 < t^{+} = t^{+}(u) < t_{\text{max}} < t^{-} = t^{+}(u)$

exists $u_0 \neq 0$ such that $u_0 \in \mathcal{N}_{\lambda}^0$, one obtains

$$a||u_0||^2 + b||u_0||^4 = \mu \int_{\Omega} \frac{|u_0|^2}{|x|^{2-\alpha}} dx + \int_{\Omega} |u_0|^6 dx + \lambda \int_{\Omega} f|u_0|^q dx, \qquad (2.1)$$

$$4a||u_0||^2 + 2b||u_0||^4 = 4\mu \int_{\Omega} \frac{|u_0|^2}{|x|^{2-\alpha}} dx + \lambda(6-q) \int_{\Omega} f|u_0|^q dx.$$
 (2.2)

It follows from (2.1) and (2.2) that

$$\lambda \int_{\Omega} f |u_{0}|^{q} dx = \frac{4}{6 - q} \left(a ||u_{0}||^{2} - \mu \int_{\Omega} \frac{|u_{0}|^{2}}{|x|^{2 - \alpha}} dx \right) + \frac{2}{6 - q} b ||u_{0}||^{4}$$

$$\geq \frac{4}{6 - q} \left(a - \frac{\mu}{\mu_{1}} \right) ||u_{0}||^{2} + \frac{2}{6 - q} b ||u_{0}||^{4}$$

$$\geq \frac{2}{6 - q} b ||u_{0}||^{4}.$$
(2.3)

On the one hand, since the strict inequality $||u_0||^2 > S|u_0|_6^2$ holds for $u_0 \in \mathcal{N}_{\lambda}^0 \setminus \{0\}$, we use a parameter Θ by

$$\Theta = |\Omega|^{\frac{6-q}{3(4-q)}} S^{-\frac{2(6-q)}{4-q}} |f|_{\infty}^{\frac{2}{4-q}} \frac{||u_0||^{\frac{4(6-q)}{4-q}}}{\left(\int_{\Omega} f(u_0^+)^q dx\right)^{\frac{2}{4-q}}} - \int_{\Omega} |u_0|^6 dx
> |\Omega|^{\frac{6-q}{3(4-q)}} S^{-\frac{2(6-q)}{4-q}} |f|_{\infty}^{\frac{2}{4-q}} \frac{(S|u_0|_6^2)^{\frac{2(6-q)}{4-q}}}{|f|_{\infty}^{\frac{2}{4-q}} |\Omega|^{\frac{6-q}{3(4-q)}} |u_0|_6^{\frac{2q}{4-q}}} - \int_{\Omega} |u_0|^6 dx
= \int_{\Omega} |u_0|^6 dx - \int_{\Omega} |u_0|^6 dx = 0.$$
(2.4)

On the other hand, by (2.3), one deduces that

$$\begin{split} \Theta &= |\Omega|^{\frac{6-q}{3(4-q)}} S^{-\frac{2(6-q)}{4-q}} \lambda^{\frac{2}{4-q}} |f|_{\infty}^{\frac{2}{4-q}} \frac{\|u_0\|^{\frac{4(6-q)}{4-q}}}{\left(\lambda \int_{\Omega} f(u_0^+)^q dx\right)^{\frac{2}{4-q}}} - \int_{\Omega} |u_0|^6 dx \\ &\leq |\Omega|^{\frac{26-q}{3(4-q)}} S^{-\frac{2(6-q)}{4-q}} \lambda^{\frac{2}{4-q}} |f|_{\infty}^{\frac{2}{4-q}} \frac{\|u_0\|^{\frac{4(6-q)}{4-q}}}{\left(\frac{2}{6-q}b\|u_0\|^4\right)^{\frac{2}{4-q}}} \\ &- \frac{2-q}{6-q} \left(a\|u_0\|^2 - \mu \int_{\Omega} \frac{|u_0|^2}{|x|^{2-\alpha}} dx\right) - \frac{b(4-q)}{6-q} \|u_0\|^4 \\ &= |\Omega|^{\frac{6-q}{3(4-q)}} S^{-\frac{2(6-q)}{4-q}} \lambda^{\frac{2}{4-q}} |f|_{\infty}^{\frac{2}{4-q}} \left(\frac{6-q}{2b}\right)^{\frac{2}{4-q}} \|u_0\|^4 \\ &- \frac{2-q}{6-q} (a\|u_0\|^2 - \mu \int_{\Omega} \frac{|u_0|^2}{|x|^{2-\alpha}} dx\right) - \frac{b(4-q)}{6-q} \|u_0\|^4 \\ &\leq |\Omega|^{\frac{6-q}{3(4-q)}} S^{-\frac{2(6-q)}{4-q}} \lambda^{\frac{2}{4-q}} |f|_{\infty}^{\frac{2}{4-q}} \left(\frac{6-q}{2b}\right)^{\frac{2}{4-q}} \|u_0\|^4 \\ &- \frac{2-q}{6-q} \left(a-\frac{\mu}{\mu_1}\right) \|u_0\|^2 - \frac{b(4-q)}{6-q} \|u_0\|^4 \\ &< \|u_0\|^4 \Big[|\Omega|^{\frac{6-q}{3(4-q)}} S^{-\frac{2(6-q)}{4-q}} \lambda^{\frac{2}{4-q}} |f|_{\infty}^{\frac{2}{4-q}} \left(\frac{6-q}{2b}\right)^{\frac{2}{4-q}} - \frac{b(4-q)}{6-q} \right] < 0, \end{split}$$

which contradicts (2.4), where the least inequality holds when $\lambda < T_1$. The proof is complete.

Lemma 2.2. I_{λ} is coercive and bounded below on \mathcal{N}_{λ} .

Proof. Assume $u \in \mathcal{N}_{\lambda}$, then by (1.4) we obtain

$$\begin{split} I_{\lambda}(u) &= \frac{a}{2} \|u\|^2 + \frac{b}{4} \|u\|^4 - \frac{\mu}{2} \int_{\Omega} \frac{|u|^2}{|x|^{2-\alpha}} dx - \frac{1}{6} \int_{\Omega} |u|^6 dx - \frac{\lambda}{q} \int_{\Omega} f|u|^q dx \\ &\geq \frac{a}{3} \|u\|^2 + \frac{b}{12} \|u\|^4 - \frac{\mu}{3} \int_{\Omega} \frac{|u|^2}{|x|^{2-\alpha}} dx - \lambda \left(\frac{1}{q} - \frac{1}{6}\right) \left|\int_{\Omega} f|u|^q dx \right| \\ &\geq \frac{a\mu_1 - \mu}{3\mu_1} \|u\|^2 + \frac{b}{12} \|u\|^4 - \lambda \left(\frac{1}{q} - \frac{1}{6}\right) |f|_{\infty} |\Omega|^{\frac{6-q}{6}} S^{-q/2} \|u\|^q. \end{split}$$

Since $1 < q < 2, 0 < \mu < a\mu_1$, it follows that I_{λ} is coercive and bounded below on \mathcal{N}_{λ} . The proof is complete.

According to Lemma 2.1, we have $\mathcal{N}_{\lambda} = \mathcal{N}_{\lambda}^+ \cup \mathcal{N}_{\lambda}^-$ for all $\lambda \in (0, T_1)$. Moreover, we know that \mathcal{N}_{λ}^+ and \mathcal{N}_{λ}^- are nonempty, and by Lemma 2.2 we may define

$$\alpha_{\lambda} = \inf_{u \in \mathcal{N}_{\lambda}} I_{\lambda}(u), \quad \alpha_{\lambda}^{+} = \inf_{u \in \mathcal{N}_{\lambda}^{+}} I_{\lambda}(u), \quad \alpha_{\lambda}^{-} = \inf_{u \in \mathcal{N}_{\lambda}^{-}} I_{\lambda}(u).$$

Lemma 2.3. $\alpha_{\lambda} \leq \alpha_{\lambda}^{+} < 0$.

Proof. Assume $u \in \mathcal{N}_{\lambda}^+$, then we have

$$\int_{\Omega} |u|^6 dx < \frac{2-q}{6-q} a ||u||^2 + \frac{4-q}{6-q} b ||u||^4.$$
 (2.5)

It follows from (2.5) that

$$\begin{split} I_{\lambda}(u) &= \frac{a}{2} \|u\|^2 + \frac{b}{4} \|u\|^4 - \frac{\mu}{2} \int_{\Omega} \frac{|u|^2}{|x|^{2-\alpha}} dx - \frac{1}{6} \int_{\Omega} |u|^6 dx - \frac{\lambda}{q} \int_{\Omega} f |u|^q dx \\ &= \left(\frac{1}{2} - \frac{1}{q}\right) (a - \frac{\mu}{\mu_1}) \|u\|^2 + \left(\frac{1}{4} - \frac{1}{q}\right) b \|u\|^4 + \left(\frac{1}{q} - \frac{1}{6}\right) \int_{\Omega} |u|^6 dx \\ &< \left(\frac{a}{2} - \frac{1}{q}\right) (a - \frac{\mu}{\mu_1}) \|u\|^2 + \left(\frac{1}{4} - \frac{1}{q}\right) b \|u\|^4 \\ &+ \left(\frac{1}{q} - \frac{1}{6}\right) \left(\frac{2-q}{6-q} a \|u\|^2 + \frac{4-q}{6-q} b \|u\|^4\right) \\ &= \frac{q-2}{6q} \left(4a - \frac{3\mu}{\mu_1}\right) a \|u\|^2 + \frac{1}{3} \left(\frac{1}{4} - \frac{1}{q}\right) b \|u\|^4 < 0. \end{split}$$

By the definitions of α_{λ} and α_{λ}^{+} , we obtain that $\alpha_{\lambda} \leq \alpha_{\lambda}^{+} < 0$. This completes the proof.

Lemma 2.4. For each $u \in \mathcal{N}_{\lambda}$, there exist $\varepsilon > 0$ and a continuously differentiable function $\hat{f} = \hat{f}(w) > 0, w \in H_0^1(\Omega), ||w|| < \varepsilon$ satisfying

$$\hat{f}(0) = 1, \quad \hat{f}(w)(u+w) \in \mathcal{N}_{\lambda}, \quad \forall w \in H_0^1(\Omega), \ \|w\| < \varepsilon.$$

Proof. For $u \in \mathcal{N}_{\lambda}$, define $\hat{F} : \mathbb{R} \times H_0^1(\Omega) \to \mathbb{R}$ by

$$\begin{split} \hat{F}(t,w) &= t^{2-q} a \int_{\Omega} |\nabla(u+w)|^2 dx + t^{4-q} b \Big(\int_{\Omega} |\nabla(u+w)|^2 dx \Big)^2 \\ &- t^{2-q} \mu \int_{\Omega} \frac{|u+w|^2}{|x|^{2-\alpha}} dx - t^{6-q} \int_{\Omega} |u+w|^6 dx - \lambda \int_{\Omega} f |u+w|^q dx. \end{split}$$

As $u \in \mathcal{N}_{\lambda}$, it is easy to get that $\hat{F}(1,0) = 0$ and

$$\hat{F}_t(1,0) = (2-q)a\|u\|^2 + (4-q)b\|u\|^4 - (2-q)\mu \int_{\Omega} \frac{|u|^2}{|x|^{2-\alpha}} dx - (6-q) \int_{\Omega} |u|^6 dx.$$

Since $u \neq 0$, by Lemma 2.1, we deduce that $\hat{F}_t(1,0) \neq 0$. Then, applying the implicit function theorem at the point (0,1), we obtain that $\varepsilon > 0$ and a continuously differentiable function $\hat{f}: B(0,\varepsilon) \subset H_0^1(\Omega) \to \mathbb{R}^+$ satisfying that

$$\hat{f}(0) = 1$$
, $\hat{f}(w) > 0$, $f(w)(u+w) \in \mathcal{N}_{\lambda}$, $\forall w \in H_0^1(\Omega)$ with $||w|| < \varepsilon$.

The proof is complete.

Lemma 2.5. For each $u \in \mathcal{N}_{\lambda}^-$, there exist $\varepsilon > 0$ and a continuously differentiable function $\tilde{f} = \tilde{f}(v) > 0, v \in H_0^1(\Omega), ||v|| < \varepsilon$ satisfying that

$$\tilde{f}(0)=1,\quad \tilde{f}(v)(u+v)\in \mathcal{N}_{\lambda}^{-},\quad \forall v\in H^{1}_{0}(\Omega),\; \|v\|<\varepsilon.$$

Proof. Similar to the process in Lemma 2.4, for $u \in \mathcal{N}_{\lambda}^{-}$, define $\tilde{F} : \mathbb{R} \times H_0^1(\Omega) \to \mathbb{R}$ by

$$\begin{split} \tilde{F}(t,v) &= t^{2-q} a \int_{\Omega} |\nabla(u+v)|^2 dx + t^{4-q} b \Big(\int_{\Omega} |\nabla(u+v)|^2 dx \Big)^2 \\ &- t^{2-q} \mu \int_{\Omega} \frac{|u+v|^2}{|x|^{2-\alpha}} dx - t^{6-q} \int_{\Omega} |u+v|^6 dx - \lambda \int_{\Omega} f |u+v|^q dx. \end{split}$$

As $u \in \mathcal{N}_{\lambda}^{-}$, we obtain $\tilde{F}(1,0) = 0$ and $\tilde{F}_{t}(1,0) < 0$. Thus, we can apply the implicit function theorem at the point (0,1) to get the result. This completes the proof.

Lemma 2.6. If $\{u_n\} \subset \mathcal{N}_{\lambda}$ is a minimizing sequence of I_{λ} , for any $\varphi \in H_0^1(\Omega)$, then

$$-\frac{|f'_n(0)|||u_n|| + ||\varphi||}{n} \le \langle I'_\lambda(u_n), \varphi \rangle \le \frac{|f'_n(0)|||u_n|| + ||\varphi||}{n}.$$
 (2.6)

Proof. By Lemma 2.2, we obtain I_{λ} is coercive on \mathcal{N}_{λ} . Then, applying the Ekeland variational principle [9], there exists a minimizing sequence $\{u_n\} \subset \mathcal{N}_{\lambda}$ of I_{λ} such that

$$I_{\lambda}(u_n) < \alpha_{\lambda} + \frac{1}{n}, \quad I_{\lambda}(v) - I_{\lambda}(u_n) \ge -\frac{1}{n} \|v - u_n\|, \quad \forall v \in \mathcal{N}_{\lambda}.$$
 (2.7)

Note that $I_{\lambda}(|u_n|) = I_{\lambda}(u_n)$, then we obtain that $u_n \geq 0$. Lemma 2.2 suggests that $\{u_n\}$ is bounded in $H_0^1(\Omega)$. Thus there exist a subsequence (still denoted by $\{u_n\}$) and u_* in $H_0^1(\Omega)$ such that

$$u_n \rightharpoonup u_*$$
 weakly in $H_0^1(\Omega)$,
 $u_n \to u_*$ strongly in $L^p(\Omega)$ $(1 \le p < 6)$,
 $u_n(x) \to u_*(x)$ a.e. in Ω .

Pick t > 0 sufficiently small, $\varphi \in H_0^1(\Omega)$, and let $u = u_n$, $w = t\varphi \in H_0^1(\Omega)$ in Lemma 2.4, then one obtains $f_n(t) = f_n(t\varphi)$ and $f_n(0) = 1$, $f_n(t)(u_n + t\varphi) \in \mathcal{N}_{\lambda}$. Note that

$$a||u_n||^2 + b||u_n||^4 - \int_{\Omega} u_n^6 dx - \mu \int_{\Omega} |x|^{\alpha - 2} u_n^2 dx - \lambda \int_{\Omega} f u_n^q dx = 0.$$
 (2.8)

From (2.7), one has

$$\frac{1}{n}[|f_n(t) - 1| \cdot ||u_n|| + tf_n(t)||\varphi||] \ge \frac{1}{n}||f_n(t)(u_n + t\varphi) - u_n||
\ge I_{\lambda}(u_n) - I_{\lambda}[f_n(t)(u_n + t\varphi)],$$
(2.9)

and

$$\begin{split} I_{\lambda}(u_n) - I_{\lambda}[f_n(t)(u_n + t\varphi)] \\ &= \frac{1 - f_n^2(t)}{2} a \|u_n\|^2 + \frac{1 - f_n^4(t)}{4} b \|u_n\|^4 + \mu \frac{f_n^2(t) - 1}{2} \int_{\Omega} (u_n + t\varphi)^2 |x|^{\alpha - 2} dx \\ &+ \frac{f_n^6(t) - 1}{6} \int_{\Omega} (u_n + t\varphi)^6 dx + \lambda \frac{f_n^q(t) - 1}{q} \int_{\Omega} f(u_n + t\varphi)^q dx \\ &+ \frac{f_n^2(t)}{2} \Big(a + \frac{f_n^2(t)}{2} b (\|u_n\|^2 + \|u_n + t\varphi\|^2) \Big) \Big(\|u_n\|^2 - \|u_n + t\varphi\|^2 \Big) \\ &+ \frac{1}{6} \Big(\int_{\Omega} (u_n + t\varphi)^6 dx - \int_{\Omega} u_n^6 dx \Big) + \frac{\lambda}{q} \int_{\Omega} f((u_n + t\varphi)^q - u_n^q) dx \end{split}$$

$$+\frac{\mu}{2}\int_{\Omega}|x|^{\alpha-2}((u_n+t\varphi)^2-u_n^2)dx,$$

then, by (2.8) and (2.9), dividing by t and letting $t \to 0$, we obtain

$$\begin{split} &|\underline{f_n'(0)|} \|u_n\| + \|\varphi\| \\ &\geq -f_n'(0)a\|u_n\|^2 + f_n'(0)b\|u_n\|^4 + f_n'(0)\int_{\Omega} u_n^6 dx + \lambda f_n'(0)\int_{\Omega} fu_n^q dx \\ &+ \mu f_n'(0)\int_{\Omega} |x|^{\alpha-2}u_n^2 dx - (a+b\|u_n\|^2)\int_{\Omega} (\nabla u_n \cdot \nabla \varphi) dx \\ &+ \int_{\Omega} u_n^5 \varphi dx + \lambda \int_{\Omega} fu_n^{q-1} \varphi dx + \mu \int_{\Omega} |x|^{\alpha-2}u_n \varphi dx \\ &= -f_n'(0)(a\|u_n\|^2 + b\|u_n\|^4 - \int_{\Omega} u_n^6 dx - \lambda \int_{\Omega} fu_n^q dx - \mu \int_{\Omega} |x|^{\alpha-2}u_n^2 dx) \\ &- (a+b\|u_n\|^2)\int_{\Omega} (\nabla u_n \cdot \nabla \varphi) dx + \int_{\Omega} u_n^5 \varphi dx \\ &+ \lambda \int_{\Omega} fu_n^{q-1} \varphi dx + \mu \int_{\Omega} |x|^{\alpha-2}u_n \varphi dx \\ &= -(a+b\|u_n\|^2)\int_{\Omega} (\nabla u_n \cdot \nabla \varphi) dx + \int_{\Omega} u_n^5 \varphi dx + \lambda \int_{\Omega} fu_n^{q-1} \varphi dx \\ &+ \mu \int |x|^{\alpha-2}u_n \varphi dx. \end{split}$$

Thus, it follows that

$$-\frac{|f'_{n}(0)|\|u_{n}\| + \|\varphi\|}{n} \leq (a + b\|u_{n}\|^{2}) \int_{\Omega} (\nabla u_{n} \cdot \nabla \varphi) dx - \int_{\Omega} u_{n}^{5} \varphi dx$$
$$-\lambda \int_{\Omega} f u_{n}^{q-1} \varphi dx - \mu \int_{\Omega} |x|^{\alpha-2} u_{n} \varphi dx$$
$$= \langle I'_{\lambda}(u_{n}), \varphi \rangle$$
(2.10)

for any $\varphi \in H_0^1(\Omega)$. As (2.10) also holds for $-\varphi$, one sees that (2.6) holds. Moreover, Lemma 2.4 implies that there exists a constant C > 0, such that $|f'_n(0)| \leq C$ for all $n \in \mathbb{N}$. So, passing to the limit as $n \to \infty$ in (2.6), we have

$$(a+b\lim_{n\to\infty} ||u_n||^2) \int_{\Omega} (\nabla u_* \cdot \nabla \varphi) dx$$

$$-\int_{\Omega} u_*^5 \varphi dx - \lambda \int_{\Omega} f u_*^{q-1} \varphi dx - \mu \int_{\Omega} |x|^{\alpha-2} u_* \varphi dx = 0$$
(2.11)

for all $\varphi \in H_0^1(\Omega)$. The proof is complete.

We define

$$\Lambda = \frac{abS^3}{4} + \frac{b^3S^6}{24} + \frac{(b^2S^4 + 4aS)^{3/2}}{24}.$$

Lemma 2.7. Suppose 1 < q < 2, $0 \le \beta < 2$, and let $\{u_n\} \subset \mathcal{N}_{\lambda}^-$ be a minimizing sequence of I_{λ} with $\alpha_{\lambda}^- < \Lambda - D\lambda^{\frac{2}{2-q}}$ where

$$D = \left(\frac{(4-q)}{4q} |\Omega|^{\frac{6-q}{6}} |f|_{\infty} S^{-q/2}\right)^{\frac{2}{2-q}} \left(\frac{2q}{a}\right)^{\frac{q}{2-q}},$$

then there exists $u \in H_0^1(\Omega)$ such that $u_n \to u$ in $L^6(\Omega)$.

Proof. Let $\{u_n\} \subset H_0^1(\Omega)$ be a $(PS)_c$ sequence for I_{λ} , namely

$$I_{\lambda}(u_n) \to c, \quad I'_{\lambda}(u_n) \to 0, \quad \text{as } n \to +\infty.$$
 (2.12)

We see that $\{u_n\}$ is bounded in $H_0^1(\Omega)$. Indeed, by (2.12) and (1.4), one has

$$1 + c + o(\|u_n\|) \ge I_{\lambda}(u_n) - \frac{1}{6} \langle I'_{\lambda}(u_n), u_n \rangle$$

$$\ge \frac{1}{3} \left(a - \frac{\mu}{\mu_1} \right) \|u_n\|^2 + \frac{b}{12} \|u_n\|^4 - \lambda \left(\frac{1}{q} - \frac{1}{6} \right) |f|_{\infty} \int_{\Omega} |u_n|^q dx$$

$$\ge \frac{1}{3} \left(a - \frac{\mu}{\mu_1} \right) \|u_n\|^2 - \lambda \left(\frac{1}{q} - \frac{1}{6} \right) |f|_{\infty} S^{-q/2} |\Omega|^{\frac{6-q}{6}} \|u_n\|^q.$$

Since $0 < \mu < a\mu_1, 1 < q < 2$, it implies that $\{u_n\}$ is bounded in $H_0^1(\Omega)$. So there exist a subsequence (still denoted by $\{u_n\}$) and $u \in H_0^1(\Omega)$ such that

$$u_n \rightharpoonup u$$
, weakly in $H_0^1(\Omega)$, $u_n \to u$, strongly in $L^p(\Omega)$ $(1 \le p < 6)$, $u_n(x) \to u(x)$, a.e. in Ω .

Note that $I_{\lambda}(|u_n|) = I_{\lambda}(u_n)$, then we obtain that $u_n \geq 0$. According to the concentration compactness principle (see [20]), there exists a subsequence, say $\{u_n\}$, such that

$$|\nabla u_n|_2^2 \rightharpoonup d\eta \ge |\nabla u|_2^2 + \sum_{j \in J} \eta_j \delta_{x_j},$$
$$|u_n|_6^6 \to d\nu = |u|_6^6 + \sum_{j \in J} \nu_j \delta_{x_j},$$

where J is an at most countable index set, δ_{x_j} is the Dirac mass at x_j , and let $x_j \in \Omega$ in the support of η, ν . we have

$$\eta_j, \nu_j \ge 0, \quad \eta_j \ge S \nu_j^{1/3}.$$

$$(2.13)$$

For any $\varepsilon > 0$ sufficiently small, let $\psi_{\varepsilon,j}(x)$ be a smooth cut-off function centered at x_j such that $0 \le \psi_{\varepsilon,j}(x) \le 1$,

$$\psi_{\varepsilon,j}(x) = 1$$
 in $B(x_j, \frac{\varepsilon}{2})$, $\psi_{\varepsilon,j}(x) = 0$ in $B(x_j, \varepsilon)$, $|\nabla \psi_{\varepsilon,j}(x)| \le \frac{4}{\varepsilon}$.

By (1.4), we obtain

$$\begin{split} \left| \int_{\Omega} f |u_n|^q \psi_{\varepsilon,j} dx \right| &\leq |f|_{\infty} \int_{B(x_j,\varepsilon)} |u_n|^q dx \\ &\leq |f|_{\infty} \Big(\int_{B(x_j,\varepsilon)} |u_n|^{q \cdot \frac{6}{q}} dx \Big)^{q/6} \Big(\int_{B(x_j,\varepsilon)} 1 dx \Big)^{\frac{6-q}{6}} \\ &\leq |f|_{\infty} S^{-q/2} \|u_n\|^q \varepsilon^{\frac{6-q}{2}}. \end{split}$$

Notice that $\{u_n\}$ is bounded in $H_0^1(\Omega)$, and $u_n \rightharpoonup u$ weakly in $L^6(\Omega)$, it implies that

$$\lim_{\varepsilon \to 0} \lim_{n \to \infty} \int_{\Omega} f |u_n|^q \psi_{\varepsilon,j} dx = 0.$$

Similarly, we obtain

$$\lim_{\varepsilon \to 0} \lim_{n \to \infty} \mu \int_{\Omega} |x|^{\alpha - 2} |u_n|^2 \psi_{\varepsilon, j} dx = 0.$$

Since $\{\psi_{\varepsilon,j}u_n\}$ is bounded in $H_0^1(\Omega)$, taking the test function $\psi_{\varepsilon,j}u_n$ in $I'_{\lambda}(u_n) \to 0$, one deduces that

$$\begin{split} 0 &= \lim_{\varepsilon \to 0} \lim_{n \to \infty} \langle I_{\lambda}'(u_n), \psi_{\varepsilon,j} u_n \rangle \\ &= \lim_{\varepsilon \to 0} \lim_{n \to \infty} \left\{ (a + b \|u_n\|^2) \int_{\Omega} (\nabla u_n \cdot \nabla (\psi_{\varepsilon,j} u_n)) dx \right. \\ &- \mu \int_{\Omega} |x|^{\alpha - 2} u_n^2 \psi_{\varepsilon,j} dx \\ &- \int_{\Omega} u_n^6 \psi_{\varepsilon,j} dx - \lambda \int_{\Omega} f u_n^q \psi_{\varepsilon,j} dx \right\} \\ &\geq \lim_{\varepsilon \to 0} \lim_{n \to \infty} \left\{ (a + b \|u_n\|^2) \int_{\Omega} (|\nabla u_n|^2 \psi_{\varepsilon,j} + u_n \nabla u_n \nabla \psi_{\varepsilon,j}) dx \right. \\ &- \mu \int_{\Omega} |x|^{\alpha - 2} u_n^2 \psi_{\varepsilon,j} dx - \int_{\Omega} u_n^6 \psi_{\varepsilon,j} dx - \lambda \int_{\Omega} f u_n^q \psi_{\varepsilon,j} dx \right\} \\ &\geq \lim_{\varepsilon \to 0} \lim_{n \to \infty} \left\{ (a + b \|u_n\|^2) \int_{\Omega} (|\nabla u_n|^2 \psi_{\varepsilon,j} + u_n \nabla u_n \nabla \psi_{\varepsilon,j}) dx \right. \\ &- \int_{\Omega} u_n^6 \psi_{\varepsilon,j} dx \right\} \\ &\geq (a + b \eta_j) \eta_j - \nu_j. \end{split}$$

Thus $\nu_j \geq (a + b\eta_j)\eta_j$. By (2.13) we obtain

$$\nu_j^{2/3} \ge aS + bS^2 \nu_j^{1/3}, \quad \text{or} \quad \eta_j = \nu_j = 0.$$
 (2.14)

Set $X = \nu_i^{1/3}$, it follows from (2.14) that

$$X^2 > aS + bS^2X$$

then

$$X \ge \frac{bS^2 + \sqrt{b^2S^4 + 4aS}}{2};$$

therefore

$$\eta_j \ge SX \ge \frac{bS^3 + \sqrt{b^2S^6 + 4aS^3}}{2} =: K.$$

Next we show that $\eta_j \geq \sqrt{aS^3}$ is impossible. So the set J is empty. Assume the contrary, there exists some $j_0 \in J$ such that $\eta_{j_0} \geq \sqrt{aS^3}$. By (2.12), (1.4) and Young inequality, we obtain

$$c = \lim_{n \to \infty} I_{\lambda}(u_n)$$

$$= \lim_{n \to \infty} \left\{ \frac{a}{2} \|u_n\|^2 + \frac{b}{4} \|u_n\|^4 - \frac{\mu}{2} \int_{\Omega} |x|^{\alpha - 2} |u_n|^2 dx - \frac{1}{6} \int_{\Omega} |u_n|^6 dx - \frac{\lambda}{q} \int_{\Omega} f |u_n|^q dx - \frac{1}{4} \left(a \|u_n\|^2 + b \|u_n\|^4 - \mu \int_{\Omega} |x|^{\alpha - 2} |u_n|^2 dx - \int_{\Omega} |u_n|^6 dx - \lambda \int_{\Omega} f |u_n|^q dx \right) \right\}$$

$$= \lim_{n \to \infty} \left\{ \left(\frac{1}{2} - \frac{1}{4}\right) a \|u_n\|^2 + b \left(\frac{1}{4} - \frac{1}{4}\right) \|u_n\|^4 \right. \\ + \left(\frac{1}{4} - \frac{1}{6}\right) \int_{\Omega} |u_n|^6 dx - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) \int_{\Omega} f |u_n|^q dx \right\} \\ \ge \left\{ \left(\frac{1}{2} - \frac{1}{4}\right) a \left(\|u\|^2 + \sum_{j \in J} \mu_j\right) + \left(\frac{1}{4} - \frac{1}{6}\right) \left(\int_{\Omega} |u|^6 dx + \sum_{j \in J} \nu_j\right) \right. \\ + \left(\frac{1}{4} - \frac{1}{4}\right) b \left(\|u\|^2 + \sum_{j \in J} \mu_j\right)^2 - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) \int_{\Omega} |f| |u|^q dx \right\} \\ \ge \left(\frac{1}{2} - \frac{1}{4}\right) a \eta_{j_0} + \left(\frac{1}{4} - \frac{1}{4}\right) b \eta_{j_0}^2 + \left(\frac{1}{4} - \frac{1}{6}\right) \nu_{j_0} + \frac{1}{4} a \|u\|^2 \\ - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) |f|_{\infty} |\Omega|^{\frac{6-q}{6}} S^{-q/2} \|u\|^q \\ \ge \frac{a}{2} K + \frac{b}{4} K^2 - \frac{K^3}{6S^3} - \frac{1}{4} \left(aK + bK^2 - \frac{K^3}{S^3}\right) - D\lambda^{\frac{2}{2-q}},$$

where

$$D = \left(\frac{(4-q)}{4q}|\Omega|^{\frac{6-q}{6}}|f|_{\infty}S^{-q/2}\right)^{\frac{2}{2-q}}\left(\frac{2q}{a}\right)^{\frac{q}{2-q}},$$
$$\frac{aK}{2} + \frac{b}{4}K^2 - \frac{K^3}{6S^3} = \Lambda, \quad K\left(a + bK - \frac{K^2}{S^3}\right) = 0.$$

Indeed,

$$\begin{split} &\frac{aK}{2} + \frac{b}{4}K^2 - \frac{K^3}{6S^3} \\ &= K\left(\frac{a}{2} + \frac{bK}{4} - \frac{K^2}{6S^3}\right) \\ &= K\left[\frac{a}{2} + \frac{b}{4} \cdot \frac{bS^3 + \sqrt{b^2S^6 + 4aS^3}}{2} - \frac{2b^2S^6 + 4aS^3 + 2bS^3\sqrt{b^2S^6 + 4aS^3}}{24S^3}\right] \\ &= K\left[\frac{a}{2} + \frac{b^2S^3 + b\sqrt{b^2S^6 + 4aS^3}}{8} - \frac{b^2S^3 + 2 + b\sqrt{b^2S^6 + 4aS^3}}{12}\right] \\ &= K\left[\frac{8a + b^2S^3 + b\sqrt{b^2S^6 + 4aS^3}}{24}\right] \\ &= \frac{12abS^3 + 2b^3S^6 + (2b^2S^3 + 8a)\sqrt{b^2S^6 + 4aS^3}}{48} \\ &= \frac{abS^3}{4} + \frac{b^3S^6}{24} + \frac{(b^2S^3 + 4a)\sqrt{b^2S^6 + 4aS^3}}{24} = \Lambda. \end{split}$$

and

$$\begin{aligned} a+bK - \frac{K^2}{S^3} \\ &= a+b\frac{bS^3 + \sqrt{b^2S^6 + 4aS^3}}{2} - \frac{1}{S^3} \frac{2b^2S^6 + 4aS^3 + 2bS^3\sqrt{b^2S^6 + 4aS^3}}{4} \\ &= a+\frac{b^2S^3 + b\sqrt{b^2S^6 + 4aS^3}}{2} - \frac{2S^3(b^2S^3 + 2a + b\sqrt{b^2S^6 + 4aS^3})}{4S^3} \\ &= \frac{2a+b^2S^3 + b\sqrt{b^2S^6 + 4aS^3} - b^2S^3 - 2a - b\sqrt{b^2S^6 + 4aS^3}}{2} = 0. \end{aligned}$$

Therefore, we obtain $\Lambda - D\lambda^{\frac{2}{2-q}} \leq c < \Lambda - D\lambda^{\frac{2}{2-q}}$, which is a contradiction. It suggests that J is empty, which means that $\int_{\Omega} |u_n|^6 dx \to \int_{\Omega} |u|^6 dx$ as $n \to \infty$. This completes the proof.

It is known that the function

$$U_{\varepsilon}(x) = \frac{(3\varepsilon)^{1/4}}{(\varepsilon + |x|^2)^{1/2}}, \quad x \in \mathbb{R}^3, \ \varepsilon > 0$$

satisfies

$$-\Delta U_{\varepsilon} = U_{\varepsilon}^5 \text{ in } \mathbb{R}^3.$$

Set

$$C_{\varepsilon} = (3\varepsilon)^{1/4}, \quad y_{\varepsilon}(x) = \frac{U_{\varepsilon}(x)}{C_{\varepsilon}}.$$

We select a cut-off function $\varphi \in C_0^{\infty}(\Omega)$ such that $\varphi(x) = 1$ for $|x| < R_0$, and $\varphi(x) = 0$ for $|x| > 2R_0$, $0 \le \varphi(x) \le 1$. Let $u_{\varepsilon}(x) = \varphi(x)y_{\varepsilon}(x)$, $v_{\varepsilon}(x) = \frac{u_{\varepsilon}(x)}{|u_{\varepsilon}|_6}$, then $|v_{\varepsilon}|_6^6 = 1$. Therefore we obtain the following results (see details in [29])

$$||v_{\varepsilon}||^{2} \leq S + C\varepsilon^{1/2},$$

$$||v_{\varepsilon}||^{6} \leq S^{3} + C\varepsilon^{1/2},$$

$$||v_{\varepsilon}||^{12} \leq S^{6} + C\varepsilon^{1/2},$$

$$||v_{\varepsilon}||^{18} \leq S^{9} + C\varepsilon^{1/2},$$

$$||v_{\varepsilon}||^{24} \leq S^{12} + C\varepsilon^{1/2}.$$

$$(2.15)$$

and

$$O(\varepsilon^{q/4}) \le \int_{\Omega} |u_{\varepsilon}|^{q} dx \le O(\varepsilon^{q/4}),$$

$$\int_{\Omega} |x|^{\alpha - 2} |u_{\varepsilon}|^{q} dx = O(\varepsilon^{\alpha/2}).$$
(2.16)

Lemma 2.8. Assume 1 < q < 2, and $0 < \alpha < 1$. Then

$$\sup_{t>0} I_{\lambda}(tu_{\varepsilon}) < \Lambda - D\lambda^{\frac{2}{2-q}}.$$

Proof. We claim that there exist $t_{\varepsilon} > 0$ and positive constants t_0, t_1 which are independent of ε, λ , such that $\sup_{t>0} I_{\lambda}(tu_{\varepsilon}) = I_{\lambda}(t_{\varepsilon}u_{\varepsilon})$ and

$$0 < t_0 \le t_\varepsilon \le t_1 < \infty. \tag{2.17}$$

As $\lim_{t\to+\infty} I_{\lambda}(tu_{\varepsilon}) = -\infty$, there exists $t_{\varepsilon} > 0$, such that

$$I_{\lambda}(t_{\varepsilon}u_{\varepsilon}) = \sup_{t>0} I_{\lambda}(t_{\varepsilon}u_{\varepsilon}), \text{ and } \frac{dI_{\lambda}(t_{\varepsilon}u_{\varepsilon})}{dt}\big|_{t=t_{\varepsilon}} = 0.$$

Then

$$t_{\varepsilon}a\|u_{\varepsilon}\|^{2} + t_{\varepsilon}^{3}b\|u_{\varepsilon}\|^{4} - \mu t_{\varepsilon} \int_{\Omega} |x|^{\alpha - 2}u_{\varepsilon}^{2}dx - t_{\varepsilon}^{5} \int_{\Omega} u_{\varepsilon}^{6}dx - \lambda t_{\varepsilon}^{q - 1} \int_{\Omega} fu_{\varepsilon}^{q}dx = 0, \quad (2.18)$$

and

$$a\|u_{\varepsilon}\|^{2}+3t_{\varepsilon}^{2}b\|u_{\varepsilon}\|^{4}-\mu\int_{\Omega}|x|^{\alpha-2}u_{\varepsilon}^{2}dx-5t_{\varepsilon}^{4}\int_{\Omega}u_{\varepsilon}^{6}dx-\lambda(q-1)t_{\varepsilon}^{q-2}\int_{\Omega}fu_{\varepsilon}^{q}dx<0.$$

Therefore,

$$(2-q)t_{\varepsilon}a\|u_{\varepsilon}\|^{2} + (4-q)t_{\varepsilon}^{3}b\|u_{\varepsilon}\|^{4} - (2-q)\mu t_{\varepsilon} \int_{\Omega} \frac{u_{\varepsilon}^{2}}{|x|^{2-\alpha}}dx$$

$$< (6-q)t_{\varepsilon}^{5} \int_{\Omega} u_{\varepsilon}^{6}dx. \tag{2.19}$$

On the one hand, we can get easily from (2.19) that t_{ε} is bounded below, so, there exists a positive constant $t_0 > 0$ (independent of ε, λ), such that $0 < t_0 \le t_{\varepsilon}$. On the other hand, it follows from (2.18) that

$$\frac{a\|u_{\varepsilon}\|^{2}}{t_{\varepsilon}^{2}} + b\|u_{\varepsilon}\|^{2} = t_{\varepsilon}^{2} \int_{\Omega} u_{\varepsilon}^{6} dx + \frac{\lambda}{t_{\varepsilon}^{4-q}} \int_{\Omega} f u_{\varepsilon}^{q} dx + \frac{\mu}{t_{\varepsilon}^{2}} \int_{\Omega} |x|^{\alpha-2} u_{\varepsilon}^{2} dx,$$

thus, t_{ε} is bounded above for all $\varepsilon > 0$ sufficiently small. Then (2.17) holds. Set

$$h(t_{\varepsilon}u_{\varepsilon}) = \frac{a}{2}t_{\varepsilon}^{2}||u_{\varepsilon}||^{2} + \frac{b}{4}t_{\varepsilon}^{4}||u_{\varepsilon}||^{4} - \frac{t_{\varepsilon}^{6}}{6}\int_{\Omega}u_{\varepsilon}^{6}dx.$$

We claim that there exists a positive constant c_7 (independent of ε, λ), such that

$$h(t_{\varepsilon}u_{\varepsilon}) \le \Lambda + c_7 \varepsilon^{1/2}.$$
 (2.20)

Indeed, set

$$g(t) = \frac{a}{2}t^{2}||u_{\varepsilon}||^{2} + \frac{b}{4}t^{4}||u_{\varepsilon}||^{4} - \frac{t^{6}}{6}\int_{\Omega}u_{\varepsilon}^{6}dx.$$

Since $\lim_{t\to\infty} g(t) = -\infty$, g(0) = 0, and $\lim_{t\to 0^+} g(t) > 0$, it follows that $\sup_{t\geq 0} g(t)$ attained at $T_{\varepsilon} > 0$, namely,

$$g'(t)|_{T_{\varepsilon}} = aT_{\varepsilon}||u_{\varepsilon}||^2 + bT_{\varepsilon}^3||u_{\varepsilon}||^4 - T_{\varepsilon}^5 \int_{\Omega} u_{\varepsilon}^6 dx = 0.$$

Then

$$T_{\varepsilon}^{4} \int_{\Omega} u_{\varepsilon}^{6} dx - a \|u_{\varepsilon}\|^{2} - b T_{\varepsilon}^{2} \|u_{\varepsilon}\|^{4} = 0;$$

therefore

$$T_{\varepsilon} = \left(\frac{b\|u_{\varepsilon}\|^4 + \sqrt{b^2\|u_{\varepsilon}\|^8 + 4a\|u_{\varepsilon}\|^2 \int_{\Omega} u_{\varepsilon}^6 dx}}{2\int_{\Omega} u_{\varepsilon}^6 dx}\right)^{1/2}.$$

Notice that g(t) is increasing in $[0, T_{\varepsilon}]$, then by (2.15), one has

$$\begin{split} h(t_{\varepsilon}u_{\varepsilon}) &\leq g(T_{\varepsilon}) \\ &= \frac{a}{2}T_{\varepsilon}^{2}\|u_{\varepsilon}\|^{2} + \frac{b}{4}T_{\varepsilon}^{4}\|u_{\varepsilon}\|^{4} - \frac{T_{\varepsilon}^{6}}{6}\int_{\Omega}u_{\varepsilon}^{6}dx \\ &= T_{\varepsilon}^{2}\left(\frac{a}{3}\|u_{\varepsilon}\|^{2} + \frac{b}{12}T_{\varepsilon}^{2}\|u_{\varepsilon}\|^{4}\right) \\ &= T_{\varepsilon}^{2}\left(\frac{a}{3}\|u_{\varepsilon}\|^{2} + \frac{b^{2}\|u_{\varepsilon}\|^{8} + b\|u_{\varepsilon}\|^{4}\sqrt{b^{2}\|u_{\varepsilon}\|^{8} + 4a\|u_{\varepsilon}\|^{2}}\int_{\Omega}u_{\varepsilon}^{6}dx}{24\int_{\Omega}u_{\varepsilon}^{6}dx}\right) \\ &= \frac{ab\|u_{\varepsilon}\|^{6}}{6\int_{\Omega}u_{\varepsilon}^{6}dx} + \frac{b\|u_{\varepsilon}\|^{6}}{12\int_{\Omega}u_{\varepsilon}^{6}dx} + \frac{\|u_{\varepsilon}\|^{2}\sqrt{b^{2}\|u_{\varepsilon}\|^{8} + 4a\|u_{\varepsilon}\|^{2}}\int_{\Omega}u_{\varepsilon}^{6}dx}{6\int_{\Omega}u_{\varepsilon}^{6}dx} \\ &+ \frac{b^{3}\|u_{\varepsilon}\|^{12}}{24(\int_{\Omega}u_{\varepsilon}^{6}dx)^{2}} + \frac{b^{2}\|u_{\varepsilon}\|^{8}\sqrt{b^{2}\|u_{\varepsilon}\|^{8} + 4a\|u_{\varepsilon}\|^{2}}\int_{\Omega}u_{\varepsilon}^{6}dx}{24(\int_{\Omega}u_{\varepsilon}^{6}dx)^{2}} \end{split}$$

$$\begin{split} &= \frac{ab\|u_{\varepsilon}\|^{6}}{4\int_{\Omega}u_{\varepsilon}^{6}dx} + \frac{b^{3}\|u_{\varepsilon}\|^{12}}{24(\int_{\Omega}u_{\varepsilon}^{6}dx)^{2}} + \frac{(b^{2}\|u_{\varepsilon}\|^{8} + 4a\|u_{\varepsilon}\|^{2}\int_{\Omega}u_{\varepsilon}^{6}dx)^{3/2}}{24(\int_{\Omega}u_{\varepsilon}^{6}dx)^{2}} \\ &\leq \frac{ab(S^{\frac{9}{2}} + c_{4}\varepsilon^{1/2})}{4(S^{3/2} + c_{2}\varepsilon^{3/2})} + \frac{b^{3}(S^{9} + c_{6}\varepsilon^{1/2})}{24(S^{3/2} + c_{2}\varepsilon^{3/2})^{2}} \\ &\quad + \frac{[b^{2}(S^{6} + c_{5}\varepsilon^{1/2}) + 4a(S^{3/2} + c_{1}\varepsilon^{1/2})(S^{3/2} + c_{2}\varepsilon^{3/2})]^{3/2}}{24(S^{3/2} + c_{2}\varepsilon^{3/2})^{2}} \\ &\leq \frac{abS^{3}}{4} + \frac{b^{3}S^{6}}{24} + \frac{(b^{2}S^{6} + 4aS^{3})^{3/2}}{24S^{3}} + c_{7}\varepsilon^{1/2} \\ &= \Lambda + c_{7}\varepsilon^{1/2}. \end{split}$$

Consequently, there exists $c_7 > 0$ (independent of ε, λ) such that (2.20) holds. Since $0 < \alpha < 1$, from [5], there exists a positive constant c_8 (independent of ε, λ) such that

$$\int_{\Omega} |x|^{\alpha - 2} u_{\varepsilon}^2 dx = c_8 \varepsilon^{\alpha/2}.$$
(2.21)

Therefore, from (2.16), (2.20) and (2.21), it holds

$$I_{\lambda}(t_{\varepsilon}u_{\varepsilon}) = h(t_{\varepsilon}u_{\varepsilon}) - \frac{\mu t_{\varepsilon}^{2}}{2} \int_{\Omega} |x|^{\alpha - 2} u_{\varepsilon}^{2} dx - \lambda \frac{t_{\varepsilon}^{q}}{q} \int_{\Omega} f u_{\varepsilon}^{q} dx$$

$$\leq \Lambda + c_{7} \varepsilon^{1/2} - \frac{\mu}{2} t_{0}^{2} c_{8} \varepsilon^{\alpha/2} + \lambda \frac{T_{1}^{q} |f|_{\infty}}{q} \int_{\Omega} u_{\varepsilon}^{q} dx$$

$$= \Lambda + c_{7} \varepsilon^{1/2} - c_{9} \varepsilon^{\alpha/2} + \lambda c_{10} \varepsilon^{q/4}$$

$$(2.22)$$

where $c_9 = \frac{\mu}{2} t_0^2 c_8$, $c_{10} = \frac{T_1^q |f|_{\infty}}{q}$. Notice that $0 < \alpha < 1$. Let

$$\varepsilon = \lambda^{\frac{4}{2-q}}, \quad \lambda < \lambda_0 = \left(\frac{c_9}{c_7 + c_{10} + D}\right)^{\frac{2-q}{2(1-\alpha)}}.$$

Then

$$\begin{split} c_7 \varepsilon^{1/2} - c_9 \varepsilon^{\alpha/2} + c_{10} \lambda \varepsilon^{q/4} &= c_7 \lambda^{\frac{2}{2-q}} + c_{10} \lambda \lambda^{\frac{q}{2-q}} - c_9 \lambda^{\frac{2\alpha}{2-q}} \\ &= \lambda^{\frac{2}{2-q}} \left(c_7 + c_{10} - c_9 \lambda^{-\frac{2(1-\alpha)}{2-q}} \right) \\ &< -D \lambda^{\frac{2}{2-q}}. \end{split}$$

From (2.22) it follows that

$$I_{\lambda}(t_{\varepsilon}u_{\varepsilon}) = h(t_{\varepsilon}u_{\varepsilon}) - \frac{\mu t_{\varepsilon}^{2}}{2} \int_{\Omega} |x|^{\alpha - 2} u_{\varepsilon}^{2} dx - \lambda \frac{t_{\varepsilon}^{q}}{q} \int_{\Omega} f u_{\varepsilon}^{q} dx$$

$$\leq \Lambda - D\lambda^{\frac{2}{2 - q}}.$$

This completes the proof.

3. Proof of main results

There exists a constant $\delta > 0$ such that $\Lambda - D\lambda^{\frac{2}{2-q}} > 0$ for $\lambda < \delta$. we set $\lambda_* = \min\{T_1, \delta\}$, thus Lemmas 2.1–2.4, 2.6, 2.7 hold for all $0 < \lambda < \lambda_*$. We shall prove Theorem 1.1 in two steps.

Step1 By Lemma 2.6, there exists a bounded minimizing sequence $\{u_n\} \subset \mathcal{N}_{\lambda}$ of I_{λ} . Perhaps for a subsequence, still denoted by $\{u_n\}$, there exists $u_{\lambda} \in H_0^1(\Omega)$ such that

$$u_n \rightharpoonup u_\lambda$$
, weakly in $H_0^1(\Omega)$, $u_n \to u_\lambda$, strongly in $L^s(\Omega)$, $1 \le s < 6$, $u_n(x) \to u_\lambda(x)$, a.e. in Ω ,

as $n \to \infty$. Now we shall prove that u_{λ} is a nonzero non-negative ground state solution of problem (1.1).

At first, we prove that u_{λ} is a non-negative solution of (1.1). Indeed, by (2.11) in Lemma 2.6, for all $\varphi \in H_0^1(\Omega)$, we obtain

$$(a+b\lim_{n\to\infty} \|u_n\|^2) \int_{\Omega} (\nabla u_{\lambda} \cdot \nabla \varphi) dx$$
$$-\int_{\Omega} u_{\lambda}^5 \varphi dx - \lambda \int_{\Omega} f u_{\lambda}^{q-1} \varphi dx - \mu \int_{\Omega} |x|^{2-\alpha} u_{\lambda} \varphi dx = 0.$$

Setting $\lim_{n\to\infty} ||u_n|| = l$, one has

$$(a+bl^2) \int_{\Omega} (\nabla u_{\lambda} \cdot \nabla \varphi) dx - \int_{\Omega} u_{\lambda}^5 \varphi dx - \lambda \int_{\Omega} f u_{\lambda}^{q-1} \varphi dx - \mu \int_{\Omega} |x|^{2-\alpha} u_{\lambda} \varphi dx = 0.$$
(3.1)

Taking the test function $\varphi = u_{\lambda}$ in (3.1), we have

$$(a+bl^{2})\|u_{\lambda}\|^{2} - \int_{\Omega} u_{\lambda}^{6} dx - \lambda \int_{\Omega} f u_{\lambda}^{q} dx - \mu \int_{\Omega} |x|^{2-\alpha} u_{\lambda}^{2} dx = 0.$$
 (3.2)

The fact $u_n \in \mathcal{N}_{\lambda}$ implies

$$(a+b||u_n||^2)||u_n||^2 - \int_{\Omega} u_n^6 dx - \lambda \int_{\Omega} f u_n^q dx - \mu \int_{\Omega} |x|^{2-\alpha} u_n^2 dx = 0.$$

Since $\alpha_{\lambda} < 0 < \Lambda - D\lambda^{\frac{2}{2-q}}$, by Lemma 2.7 we obtain

$$(a+bl^2)l^2 - \int_{\Omega} u_{\lambda}^6 dx - \lambda \int_{\Omega} f u_{\lambda}^q dx - \mu \int_{\Omega} |x|^{2-\alpha} u_{\lambda}^2 dx = 0. \tag{3.3}$$

It follows from (3.2) and (3.3) that $||u_{\lambda}|| = l$, which suggests that $u_n \to u_{\lambda}$ in $H_0^1(\Omega)$ and u_{λ} is a solution of (1.1), namely,

$$(a+b||u_{\lambda}||^{2}) \int_{\Omega} (\nabla u_{\lambda} \cdot \nabla \varphi) dx - \int_{\Omega} u_{\lambda}^{5} \varphi dx - \lambda \int_{\Omega} f u_{\lambda}^{q-1} \varphi dx - \mu \int_{\Omega} |x|^{2-\alpha} u_{\lambda} \varphi dx = 0.$$
(3.4)

for all $\varphi \in H_0^1(\Omega)$. Recall that $u_{\lambda} \geq 0$. In addition, note that $u_{\lambda} \in \mathcal{N}_{\lambda}$ (u_{λ} is a nontrivial solution of (1.1)) and $\alpha_{\lambda} < 0$ (by Lemma 2.3), then one obtains

$$\lambda \left(\frac{1}{q} - \frac{1}{6}\right) \int_{\Omega} f|u_{\lambda}|^{q} dx$$

$$= \frac{a}{3} \|u_{\lambda}\|^{2} - \frac{\mu}{3} \int_{\Omega} |x|^{\alpha - 2} |u_{\lambda}|^{2} dx + \frac{b}{12} \|u_{\lambda}\|^{4} - I_{\lambda}(u_{\lambda})$$

$$\geq \frac{1}{3} (a - \frac{\mu}{\mu_{1}}) \|u_{\lambda}\|^{2} + \frac{b}{12} \|u_{\lambda}\|^{4} - \alpha_{\lambda} > 0,$$

which implies that $u_{\lambda} \not\equiv 0$. By Lemma 2.7 we obtain

$$\alpha_{\lambda} = \lim_{n \to \infty} I_{\lambda}(u_n) = I_{\lambda}(u_{\lambda}). \tag{3.5}$$

Next, we shall show that $u_{\lambda} \in \mathcal{N}_{\lambda}^{+}$ and $I_{\lambda}(u_{\lambda}) = \alpha_{\lambda}^{+}$. We claim that $u_{\lambda} \in \mathcal{N}_{\lambda}^{+}$. On the contrary, suppose that $u_{\lambda} \in \mathcal{N}_{\lambda}^{-}$, by Lemma 2.1, there exist positive numbers $t^{+} < t_{\text{max}} < t^{-} = 1$ such that $t^{+}u \in \mathcal{N}_{\lambda}^{+}$, $t^{-}u \in \mathcal{N}_{\lambda}^{-}$ and

$$\alpha_{\lambda} < I_{\lambda}(t^{+}u_{\lambda}) < I_{\lambda}(t^{-}u_{\lambda}) = I_{\lambda}(u_{\lambda}) = \alpha_{\lambda},$$

which is a contradiction. Thus, $u_{\lambda} \in \mathcal{N}_{\lambda}^{+}$. From the definition of α_{λ}^{+} , we obtain $\alpha_{\lambda}^{+} \leq I_{\lambda}(u_{\lambda})$. It follows from Lemma 2.3 and (3.5) that

$$I_{\lambda}(u_{\lambda}) = \alpha_{\lambda}^{+} = \alpha_{\lambda} < 0.$$

From the above discussion, we obtain that u_{λ} is a nonzero non-negative ground state solution of problem (1.1).

Step 2. We shall verify that problem (1.1) has a second solution v_{λ} with $v_{\lambda} \in \mathcal{N}_{\lambda}^{-}$. As I_{λ} is also coercive on $\mathcal{N}_{\lambda}^{-}$, then we apply the Ekeland's variational principle to the minimization problem $\alpha_{\lambda}^{-} = \inf_{v \in \mathcal{N}_{\lambda}^{-}} I_{\lambda}(v)$ to obtain a minimizing sequence $\{v_n\} \subset \mathcal{N}_{\lambda}^{-}$ of I_{λ} with the following properties:

- (i) $I_{\lambda}(v_n) < \alpha_{\lambda}^- + \frac{1}{n}$;
- (ii) $I_{\lambda}(u) \ge I_{\lambda}(v_n) \frac{1}{n} ||u v_n||$ for all $u \in \mathcal{N}_{\lambda}^-$.

Since $\{v_n\}$ is bounded in $H_0^1(\Omega)$, passing to a subsequence if necessary, there exists $v_{\lambda} \in H_0^1(\Omega)$ such that

$$v_n \rightharpoonup v_\lambda$$
, weakly in $H_0^1(\Omega)$, $v_n \to v_\lambda$, strongly in $L^s(\Omega)$, $1 \le s \le 6$, $v_n(x) \to v_\lambda(x)$, a.e. in Ω ,

as $n \to \infty$. Now we shall prove that v_{λ} is a non-negative solution of (1.1). Similar to the proof of Theorem 1.1, we obtain $v_n \to v_{\lambda}$ in $H_0^1(\Omega)$ and v_{λ} is a non-negative solution of (1.1).

Now, we prove that $v_{\lambda} \not\equiv 0$ in Ω . From $v_n \in \mathcal{N}_{\lambda}^-$, we have

$$a(2-q)\|v_n\|^2 \le (6-q) \int_{\Omega} v_n^6 dx + (2-q)\mu \int_{\Omega} |x|^{\alpha-2} v_n^2 dx - b(4-q)\|v_n\|^4$$

$$\le (6-q) \int_{\Omega} v_n^6 dx + (2-q)\mu \int_{\Omega} |x|^{\alpha-2} v_n^2 dx$$

$$< (6-q)S^{-3}\|v_n\|^6 + (2-q)\frac{\mu}{\mu_1}\|v_n\|^2,$$

so that

$$||v_n|| > \left(\frac{(a - \frac{\mu}{\mu_1})(2 - q)S^3}{(6 - q)}\right)^{1/4}, \quad \forall v_n \in \mathcal{N}_{\lambda}^-.$$
 (3.6)

Note that $v_n \to v_\lambda$ in $H_0^1(\Omega)$, (3.6) implies that $v_\lambda \not\equiv 0$.

Next, we prove that $v_{\lambda} \in \mathcal{N}_{\lambda}^-$. It suffices to prove that \mathcal{N}_{λ}^- is closed. Indeed, by Lemmas 2.7 and 2.8, for $\{v_n\} \subset \mathcal{N}_{\lambda}^-$, we obtain

$$\lim_{n \to \infty} \int_{\Omega} v_n^6 dx = \int_{\Omega} v_{\lambda}^6 dx.$$

From the definition of $\mathcal{N}_{\lambda}^{-}$, it holds

$$(2-q)a\|v_n\|^2 + (4-q)b\|v_n\|^4 - (6-q)\int_{\Omega} v_n^6 dx - (2-q)\mu \int_{\Omega} |x|^{\alpha-2}v_n^2 dx < 0.$$

Then

$$(2-q)a\|v_{\lambda}\|^{2} + (4-q)b\|v_{\lambda}\|^{4} - (6-q)\int_{\Omega}v_{\lambda}^{6}dx - (2-q)\mu\int_{\Omega}|x|^{\alpha-2}v_{\lambda}^{2}dx \le 0,$$

which implies that $v_{\lambda} \in \mathcal{N}_{\lambda}^{0} \cup \mathcal{N}_{\lambda}^{-}$. If $\mathcal{N}_{\lambda}^{-}$ is not closed, then one obtains $v_{\lambda} \in \mathcal{N}_{\lambda}^{0}$. By Lemma 2.1, it follows that $v_{\lambda} = 0$, which contradicts $v_{\lambda} \not\equiv 0$. Therefore, $v_{\lambda} \in \mathcal{N}_{\lambda}^{-}$. Since $\mathcal{N}_{\lambda}^{+} \cap \mathcal{N}_{\lambda}^{-} = \emptyset$, u_{λ} and v_{λ} are different.

Acknowledgments. This research was supported by the Science and Technology Foundation of Guizhou Province (No. LH[2015]7207), and by the Natural Science Foundation of Guizhou Provincial Department of Education [2013]405.

References

- C. O. Alves, F. J. S. A. Corrêa, T. F. Ma; Positive solutions for a quasilinear elliptic equation of Kirchhoff type, Comput. Math. Appl. 49 (2005), 85–93.
- [2] G. Anello; A uniqueness result for a nonlocal equation of Kirchhoff type and some related open problem, J. Math. Anal. Appl. 373 (2011), 248–251.
- [3] C. O. Alves, F. J. S. A. Corrêa, G. M. Figueiredo; On a class of nonlocal elliptic problems with critical growth, Differential Equation and Applications, 23 (2010), 409–417.
- [4] A. Ambrosetti, H. Brézis, G. Cerami; Combined effects of concave and convex nonlinearities in some elliptic problems, J. Funct. Anal. 122 (1994), 519–477.
- [5] J. G. Azorero, I. Peral, J. D. Rossi; A convex-concave problem with a nonlinear boundary condition, J. Differential Equations 198 (2004), 91–128.
- [6] H. Brézis, L. Nirenberg; Positive solutions of nonlinear elliptic equations involving critical Sobolev exponents, Commun. Pure. Appl. Math. 36 (1983), 437–477.
- [7] C. Chen, Y. Kuo, T. Wu; The Nehari manifold for a Kirchhoff type problem involving sign-changing weight functions, J. Differential Equations 250 (2011), 1876–1908.
- [8] B.T. Cheng; New existence and multiplicity of nontrivial solutions for nonlocal elliptic Kirchhoff type problems, J. Math. Annal. Appl. 394 (2012), 488–495.
- [9] I. Ekeland; Nonconvex minimization problems, Bull. Amer. Math. Soc. (N.S.) 1 (1979), 443–474
- [10] G. M. Figueiredo; Existence of a positive for a Kirchhoff problem type with critical growth via truncation argument, J. Math. Anal. Appl. 401 (2013), 706–713.
- [11] G. M. Figueiredo, J. R. Santos Junior; Multiplicity of solutions for a Kirchhoff equation with subcritical or critical growth, Diff. Integral Equations 25 (2012), 853–868.
- [12] A. Hamydy, M. Massar, N. Tsouli; Existence of solution for p-Kirchhoff type problems with critical exponents, Electronic J. Differential Equations 105 (2011), 1–8.
- [13] J. H. Jin, X. Wu; Infinitely many radial solutions for Kirchhoff-type problems in R^N, J. Math. Annal. Appl. 369 (2010), 564–574.
- [14] G. Kirchhoff; Vorlesungen über mathematische Physik: Mechanik, Teubner, Leipzig, 1876.
- [15] S. H. Liang, S. Y. Shi; Soliton solutions to Kirchhoff type problems involving the critical growth in R^N, Nonlinear Anal. 81 (2013), 31–41.
- [16] G. B. Li, H. Y. Ye; Existence of positive ground state solutions for the nonlinear Kirchhoff type equations in R³, J. Differential Equations 257 (2014), 566–600.
- [17] Y. H. Li, F. Y. Li, J. P. Shi; Existence of a positive solution to Kirchhoff type problems without compactness conditions, J. Differential Equations 253 (2012), 2285–2294.
- [18] C. Y. Lei, C. M. Chu, H. M. Suo, C. L. Tang; On Kirchhoff type problems involving critical and singular nonlinearities, Ann. Polon. Math. 114 (2015) 269–291.
- [19] G. S. Liu, C. Y. Lei, L. T. Guo, H. Rong; Multiple positive solutions for Kirchhoff problems with sign-changing potential, Electron. J. Diff. Equ. 202 (2015) 1–10.
- [20] P. L. Lions; The concentration-compactness prinicple in the calculus of variations. The limit case, Rev. Mat. Iberoam. 1 (1985), 145–201.

- [21] T. F. Ma; Remarks on an elliptic equation of Kirchhoff type, Nonlinear Anal. 63 (2005), 1967–1977.
- [22] A. M. Mao, Z. T. Zhang; Sign-changing and multiple solutions of Kirchhoff type problems without the PS condition, Nonlinear Anal. 70 (2009), 1275–1287.
- [23] T. F. Ma, J. E. Muñoz Rivera; Positive solutions for a nonlinear nonlocal elliptic transmission problem, Appl. Math. Lett. 16 (2003), 243–248.
- [24] A. M. Mao, S. X. Luan; Sign-changing solutions of a class of nonlocal quasilinear elliptic boundary value problems, J. Math. Anal. Appl. 383 (2011), 239–243.
- [25] D. Naimen; The critical problem of Kirchhoff type elliptic equations in dimension four, J. Differential Equations 257 (2014), 1168–1193.
- [26] J. J. Nie, X. Wu; Existence and multiplicity of non-trivial solutions for Schrödinger-Kirchhoff-type equations with radial potential, Nonlinear Anal. 75 (2012), 3470–3479.
- [27] M. Willem; Minimax Theorems, Birthäuser, Boston, 1996.
- [28] L. Wei, X. M. He; Multiplicity of high energy solutions for superlinear Kirchhoff equations, J. Appl. Math. Comput. 39 (2012), 473–487.
- [29] Q. L. Xie, X. P. Wu, C. L. Tang; Existence and multiplicity of solutions for Kirchhoff type problem with critical exponent, Commun. Pure Appl. Anal. 12 (2013), 2773–2786.
- [30] Y. Yang, J. H. Zhang; Positive and negative solutions of a class of nonlocal problems, Nonlinear Anal. 73 (2010), 25–30.
- [31] Z. T. Zhang, K. Perera; Sign changing solutions of Kirchhoff type problems via invariant sets of descent flow, J. Math. Anal. Appl. 317 (2006), 456–463.

Gao-Sheng Liu

SHANGHAI UNIVERSITY OF FINANCE AND ECONOMICS, SHANGHAI 200433, CHINA

 $E ext{-}mail\ address:$ 772936104@qq.com

Liu-Tao Guo

Guizhou Minzu University, Guiyang 550025, China

 $E ext{-}mail\ address: 350630542@qq.com}$

Chun-Yu Lei (corresponding author)

SCHOOL OF SCIENCE, GUIZHOU MINZU UNIVERSITY, GUIYANG 550025, CHINA

E-mail address: leichygzu@sina.cn